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Interactive Question

A large gravel truck is loosely covered with a tarpaulin.
The edges of the tarp are tied down to the truck. When
the truck is at rest the tarp is flat. When it cruises at
highway speeds

A) the tarp bows down.
B) the tarp remains flat.

C) the tarp bows up.



Interactive Question

A blood platelet drifts along with the flow of blood
through an artery that is partially blocked by deposits.
As the platelet moves from the narrow region to the
wider region, it experiences?

A) an increase 1n pressure.
B) no change in pressure.
C) a decrease in pressure.



Problem: If air moves over the top of an airplane wing at
750 m/s and under the bottom of the airplane wing at 220
m/s, what is the difference in pressure between the top
and bottom of the wing at sea level?

(oven  Vgsdioal Cair = 1 2T kp/s’
Vp = K20 SQ |

wear Py-Pr _
Pot ¥ Pan cﬂ.« = PyriCan Sa
PyePe s ...u.l@:.(p.. L lar by
= 7 fan (VW)

= x{nef xm\:&m@wo ...\.J mnbs\‘a p
= Voo P |




Problem: A water pipe has water flowing at 1.30 m/s in a
" region where the radius of the pipe is 2.00 cm at a fluid
pressure of 0.200 atm. What 1s the fluid pressure at a
point where the pipe narrows to a radius of 1.00 cm?
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